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RANKING (2B##7T)

[ BFS20ILR ] 20194F02H27HE5
VB K 55 &it SRF | BEZE | TRE | BUE mE Bizik | 20184 | 2EK | BEE | mEE | BUE mE [ 20174
Point | 18.04 | 18.05 | 18.11 | 18.11 | 18.11 | 18.12 | Point | 17.04 | 17.05 | 17.11 | 17.11 | 17.11 | 17.12 | Point

1[4 S8t BAO—> 210 40 20 60 15 30 45 210 30 16 35 30 30 0 141
PALECRE ] River 105 30 15 30 30 105 10 28 38
3lall # BAO—> 75 25 50 75 50 20 15 15 50 0] 150
4R BX FBHO-> 52 10 12 30 52 25 8 2 10 30 0 75
5|8 %E BAO-> 45 25 20 45 0
6|1MFE &l EAO—-> 44 25 12 2 3 2 44 17 12 15 3 8 0 55
7]EH & EAO-> 41 17 4 15 3 2 41 1 16 15 14 20 66
8| KM FfT EHO-> 39 4 20 15 39 4 30 45 79
8|k #E S A=) 39 5 16 10 8 39 30 7 8 5 50
10|ARE HW  [BN0-—> 35 35 35 40 2 25 15! 82
11|HE =X TFLR 27 17 10 27 5 2 2 9
120AR BE River 21 1 20 21 60 60
2] BA EAO0—-> 21 17 4 21 17 4 15 3 0 5 44
141871 ® BAO—> 18 5 6 2 5 18 17 6 10 0 4 5 42
15[k AWy [SHUVTC 17 5 6 6 17 5 4 4 13
IHEEEEED EAO0-> 17 17 17 10 10
17 |5t B FBHO-> 16 6 10 16 3 6 9
18[@mAa B— S9% A-)L 15 15 15 5 25 30
18|FR FE BRIz 15 5 10 15 5 10 8 23
18] = F—LURT 15 5 10 15 5 5
18|k &t BHO-> 15 15 15 0
18[JIIE # EAO-> 15 15 15
23[RE & SvILF> 13 1 10 2 13 2 4 12 18
23[R BRR (U5 — 13 1 2 10 13 5 2 2 9
23|54 BB SvILF 13 3 10 13 2 2 4
23|38 BE FBHO-> 13 5 8 13 0
270 @z P25 — 12 10 2 12 2 4 4 10
27| K16 BRE River 12 10 2 12 2 2 4
29[®E = EAO0-> 11 5 4 2 11 17 10 2 29
30|H0 BEE FHO-> 10 2 6 2 10 5 10 16 31
30[@S B BRTU-> 10 4 4 2 10 10 10
30| K FR{khE 27— 10 6 4 10 4 2 6
30(&F M P25 — 10 10 10 0 0
ENEZEE N BRINT 10 10 10
30[%%E #=H EAO-> 10 10 10
36([@50 RS EAO—> 9 3 2 4 9 2 6 2 10
36[El M PIF— 9 5 2 2 9 1 6 2 9
36[dtHk & SvILF 9 1 6 2 9 6 7
36|#)ll =7 Sy 9 3 6 9 4 4
40[hE EX TOUVTC 7 1 6 7 0 2 10 12
40(8 =z ERO—> 7 1 6 7 1 6 7
a2|mm =mE THFLZ 6 2 4 6 1 6 2 9
42|=H A FHO-> 6 6 6 4 4 8
ERES SEAITEXT 6 6 6 6 6
42|FHE Hsh THFLR 6 6 6 5 5]
R2(HR R RDEANT 6 6 6 4 4
42(EZ> Ktz BHIHERE 6 6 6 3 0 3
] SOUVTC 6 6 6 1 1
42|55 R UvTC 6 6 6 0
42\t BE ARING 6 6 6
42[l =zB  |OF 6 6 6
S2|ARE X—  [ERO-—> 5 1 2 2 5 0 0 12 12
52|/ 84T SOt A=) 5 5 5 0
52|8K BX BRIFHRH 5 5 5 0
S5[EE Bt F—LU&T 4 4 4 6 6 12
55|% #wha 59 AL 4 4 4 6 6




55|MEFR  #|IT =UUVTC 4 2 2 4 2 2 4
55(H H— ERO—> 4 4 4 2 2 4
55|5H XE =OUYTC 4 2 2 4 2 2 4
55| BT S50 A-IL 4 2 2 4 4 4
55| KB HZ =OUvTC 4 2 2 4 2 2
55(@H EA River 4 2 2 4 2 2
55 KAl KRR River 4 4 4 0
55[H0O FE F—LURT 4 4 4

65| T%F fieki F—LURT 3 3 3 4 4 8
65| L #A— River 3 2 3 4 4
65|ElG K EHO-> 3 3 3 0
65| AR {8 EROU-> 3 3 3 0
65BN B River 3 3 3 0
65|TH EH ERNH 1Ry 3 3 3 0
71|BIR Ehf BRING 2 2 2 20 20
71|MEM BYF =OUYTC 2 2 2 6 4 10
71| HE BA S 2 2 2 6 6
71BN fE— =OUVTC 2 2 2 2 2
71T #EA FHO—> 2 2 2 2 2
71|HH & =OUvTC 2 2 2 0 0
718 IEE SARANG 2 2 2 0
71(AR  EuEE 27— 2 2 2 0
FIEEES FRITERF 2 2 2

71 et ERTEXF 2 2 2

71|7"H N River 2 2 2

71|@H R F< DATC 2 2 2

710k = HRANG 2 2 2

71|R2k Eh #H< DATC 2 2 2

7180 River 2 2 2

HEERESE HRANG 2 2 2

- TLYORX 2 2 2

71|EE BE5 FHIESR 2 2 2

71|Alll K# Ty o 2 2 2

90| FiE BERX 21— h~E— 1 1 1 5 10 16 31
90|ER [FE— ERO-> 1 1 1 2 4
923 PET ETAM 0 0 28 28
R|&N FF TERIF12I 0 0 2 16 18
92|=F RE EHO—-> 0 0 0 5 12
92(F 3k 21— h~E— 0 0 2 6 2 10
92| A F—LURT 0 0 10 10
9Q2|&F EZ EBHO-> 0 0 5 4 9
92| K1 @ Syl 0 0 2 6 8
92|/Il8 IEE P25 — 0 0 2 6 8
92| B F—LURT 0 0 6 6
92| B H 21— h~E— 0 0 6 6
92|iRFE  AIE ERO-—> 0 0 6 6
92|teH f#— EHO—-> 0 0 2 4 6
92|/ BB ERO—-> 0 0 2 2 2 6
92|8a & ERITHERT 0 0 4 2 6
92| EH BB 50" A-)L 0 0 0 4 4
92|k f& River 0 0 4 4
92|IRA TR River 0 0 4 4
92|Fih KX Ty oA 0 0 2 2 4
R2|FE R BEING 0 0 2 2
92|AH BX ERO-—> 0 0 2 2
92|#@k B TERNHIR 0 0 2 2
92|5 B 27— 0 0 2 2
92|@mkE E =OUYTC 0 0 2 2
92|BH HRK— F—LUKT 0 0 2 2
92|/N&  ET FRITERF 0 0 2 2
92|&FL KE River 0 0 2 2
92| iR A RN 12Fr 0 0 2 2
92|z RSB ERO—> 0 0 2 2
2 (HH & ERO-—> 0 0 2 2
9R2|FH BH River 0 0 2 2
R|KAR EE ([BFO-—> 0 0 2 2
92|k >0 A-)L 0 0 0 0
92 |MEpH K [BAO-—> 0 0 0
92|’ 21— hE— 0 0 0
92| Pl Sy 0 0 0
92| aH FRITHERF 0 0 0
92| EH SRIF— 0 0 0
92| =% ERO-—> 0 0 0
92| =i FERO—> 0 0 0
92 | 7R ot 0 0 0
92| 1R FFLR 0 0 0
92| &= River 0 0 0
92|4tsE ERO—> 0 0 0
92|51t 11— hE— 0 0 0
92| xR >0 A-)L 0 0 0
RAL B4 SERIFI2I 0 0 0
92|t FEh 21— h~E— 0 0 0
92|HO F¥X River 0 0 0
92|%F=  hth HRANG 0 0 0
92| %8 F—LURT 0 0 0 0
92| AMt MR HRANG 0 0 0
92| A4t fiER P25 — 0 0 0 0
92|81 #th EAO—-> 0 0 0
92|BiE HiE ERTEXRF 0 0 0
R2|hE BB EAO—-> 0 0 0
9R2|WIL F— FFELR 0 0 0
92|HH BBX =OUvTC 0 0 0
92|%0 gz River 0 0 0
92|1BHE & BRANG 0 0 0
R2(H% & HRANG 0 0 0




92|fE ERITHERF
R2|B+E & TLyOX
92|iEfE AT =OUYTC
RFR F# EFO->
92|l F5EA Ty oA
92| bRy A AR ANG

92| =R Fli EAO—->

92|/N\g EER Syl

92|/l g BRI 1255

R2|HE EE P27 —

92| ER ER River
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